Section A

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B), C) and D). Choose the one answer that best completes the sentence.

16. The old lady didn’t            to her daughter that she had got lung cancer.

   A. retire


B. relieve         C. retreat

     D. reveal

17. The drunk man            his wife in the face when she tried to prevent him from drinking too much..
 
A. slapped 
    B. snapped 
     C. wrapped 

 D. dragged

18. Sam’s expression was so             that Mary couldn’t help wondering what secrets he was keeping. 

 A. astonished

B. emotional      C. mysterious
     D. embarrassed

19 He is a student of great intelligence and diligence.            , he is a top student in the class.

  A. Undoubtedly

B. Nevertheless    C. Fortunately 
 D. Furthermore


A) bill



B) debt



C) credit



D) check

20. I’d rather you _______ anything about this to anyone, please. 

A) don’t say


B) hadn’t said
      C) didn’t say


D) won’t say 

21. If it ________ , I’d have gone for a walk..

A) Hadn’t rained


B) didn’t rain 

C) Wouldn’t have rained
   D) wasn’t raining

22. It             the public to hear the news that the source of drinking water had been heavily polluted. 

  A. conquered

B. disturbed       C. suspected

 D. indicated

23. The boy is eager to              knowledge in different fields.

  A. absorb


B. accomplish     C. arrange

 D. approach

24 Customers are allowed to             the new product before they decide to make the purchase.

A. select
 

B. sample         C. test
 

 D. taste

25. Since Tom and Paul are partners, they need to             every issue concerning their common interests.

A. take back

B. talk back       C. take over

D. talk over

26. Helen visits her parents once a month.             she just gives them some phone calls.

A. At a time

B. On time        C. At other times 

D. In time 

27. Susan refused to              the man who is ten years older than her.

A. marry


B. marry to        C. marry with

    D. get married 

28. The meeting _________ take place on Thursday. But we’ve had to postpone it.


A) was delayed to





B) was supposed to




C) was stuck to




    D) was resumed to

29. From the top of the hill you can get a beautiful _________ of the entire park.


A) profit

  B) perspective

C) prospective


D) position

30. Only in a few countries ________ a reasonable standard of living.

A) does the whole of the population enjoy

B) the whole of the population do enjoy

C) the whole of the population enjoys

D) the whole of the population enjoy

E) 2. After interviewing several workers she came to a (an)          that their working conditions were very poor.
F) A. illustration

B. observation     C. conclusion

 D. qualification 

G) 3. Although it has been more than ten years since they graduated they are still in            with each other.

H) A. constant 
    B. contact         C. contrast

 D. contract

31. Insurance statistics show that most wives ________ their husbands.


A) Engage


B) inspect

C) survey



D) survive 

32. It is incredible that the 12-year-old managed to even reach the pedals, ________ drive the car.

A) let alone


B) may well


C) all but

     D)along with

33. The management demanded that all workers on the assembly line           on their work in hand.  

A. concentrated

    B. must concentrate      C. concentrate 

D. concentrating

34 I enjoyed being on this course. I learned a lot from teachers and students _________.


A)likewise

B) likely


C) alike


D) liking

35. There exists the eternal struggle between good and ________ forces in the moral universe.


A) corrupt



B) evil


C) wicked


D) foolish

36. Old people are extremely reluctant to buy on ________ and likely to save as much money as possible.

37. Oh no! Look at all the water on the floor. A pipe _________ while we were away. 

A) would have burst    
     B) should have burst 

C) should burs               D) must have burst t

Section B

Directions: Complete each of the following sentences with the proper form of the word derived from the one in brackets.

Example 1: Tom does not have a job. He is _____________. (job)

   Answer: jobless
Example 2: It is _____________ to talk with one’s mouth full of food. (polite)

   Answer: impolite

46. There has been an increasing ________ (aware) that many people are affected by crime. 

47. He recalled the ________ (breath) excitement of early 1988, when hundreds and thousands of citizens gathered nightly for political meetings.  

48. They were on their way to the Shropshire Union Canal when their car was involved in a _________ (collide) with a van. 

49. Only half of the young birds may live to ________ (mature). 

50.The dog shook itself __________ (vigor), scattering drops of water everywhere. 

51. These figures gives a ________ (distort) view of the significance for the local economy. 

52. We should be worried about our children’s ________ (expose) to violence on television. 

53. ________ (employ) is so damaging to both individuals and to communities. 

54. Social science is a _________ (collect) name, covering a series of individual sciences.

55. He didn’t want to tell Mr Morrison why he was  ______ (patient) to get home. 

Section C

Directions: Complete the following sentences with the appropriate forms of words or phrases according to the meanings of the expressions given in Chinese in brackets.

56. The world will be different, and we will have to be prepared to _______ (适应) to the change. 

57. She left a short __________ (不涉及个人感情的) note, saying that she was leaving. 
58. I closed my eyes for a minute and must have ________ (打盹).
59. Every visitor to Georgia is overwhelmed by the kindness, charm and _______ (好客)of the people. 
60.The talk took place _________ (有…在场)of a diplomatic observer. 

61. It is not an idea around which the Community can unite. _______ (正相反), I see it as one that will divide us. 
62. The less you rely on pain killers now, the better it will be for your health ________ (从长远来看). 

63. The company will spend $6 million on the development of new products and sales ________ (策略). 

64. Only one man tried to help us; the rest just _______ (旁观) in silence. 

65. I have had got very little help from the doctors and no ________ (同情) whatsoever. 

Part III     Guided Writing 

(10%)

Directions: Recently Internet surfing becomes very popular. Write a short essay of about 150 words on this topic. You should base your composition on the outline given below:
         Surfing on the Internet brings a lot of pleasure beside information.

         Young children should not spend too much time surfing on the Internet.

         Give reasons.

Section A

Directions: There are 3 passages in this section. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A), B), C), and D). You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the center.

Questions 1 to 5 are based on the following passage.

   Trials are taking place in North America and Europe to test an electronic device which will prevent children from watching unsuitable programs on television. 

   The device, known as a V-chip (the “v” stands for violence), allows parents to control their television set so that programs which are unsuitable for children cannot be watched on a particular television.

   The V-chip works by using an electronic code. When a program is broadcast, the signal from the television transmitter carries a code, which indicates the level of sex and/or violence in a particular program. The V-chip inside the television then examines the code for each program and blocks transmission of those programs which contain certain codes. 

   Makers of the V-chip say that parents can be confident that their children will not be able to watch those programs which they decide are unsuitable. 

   V-chip technology has attracted a lot of interest. President Clinton passed a law last year which will require all new televisions to be fitted with V-chips by 1998. And the European Parliament（欧洲议会） has included the V-chip in its new Directive on Broadcasting. 

   But critics say that the system will not be fool-proof, and that children will find ways of getting around it. There are also concerns that foreign satellite television companies may not abide by the rules. Others say that if viewers come to rely on the V-chip, other controls on program content may start to be relaxed. 

1. According to the passage, V-chip technology enables parents to __________. 

  A) turn off the television when they are not home

  B) keep inappropriate TV programs away from their children 

  C) test electronic devices that can take the place of the TV set

  D) control the amount of time that their children spend on watching TV

2. What do we learn from the passage about the electronic code?          

  A).It is a computer program built in a TV set to examine the V-chip.

  B) It contains information about the television transmitter. 

  C) It is the signal that is sent out by the V-chip. 

  D) It shows the level of sex and/or violence in a particular program 

3. The word “they ” in Paragraph 4 refers to ________________. 

  A) makers  B) children  C) parents  D) programs

4. We can conclude from the passage that _______________. 

  A) TV sets sold in America after 1998 are required to have V-chips 

  B) a law had been passed to prohibit sex and violence on TV

  C) President Clinton attracted a lot of interest

  D) the European Parliament decided to import the V-chip technology from USA

5. Critics of the V-chip were concerned that ____________. 

  A) children may not like the new technology

  B) imported TV set may not have been equipped with V-chips

  C) children may get addicted to the new technology

  D) new problems may arise even if the V-chip works

Questions 6 to 10 are based on the following passage.

It is estimated that some seven hundred million people are unable to read and write, and there are probably two hundred and fifty million more whose level of attainment is so slight that it barely qualifies literacy (读写能力).

Recently the attack on illiteracy has been stepped up. A world plan has been drawn up by a committee of UNESCO experts in Paris, as part of the UNESCO Nations Development Decade, and an international conference on the subject has also been held. UNESCO stresses that functional literacy is the aim. People must learn the basic skills of responsible citizenship: the ability to read notices, newspapers, timetables, letters, price-lists, to keep simple records and accounts, to sort out the significance of the information gathered, and to fill in forms.

The major areas of illiteracy are in Asia, Africa, and Central and South America. In Africa there are at least one hundred million illiterates, comprising eighty to eighty-five per cent of the total population. In Europe the figure is about twenty-four million, most of them in Southern Europe, with Spain, Italy, Portugal, and Yugoslavia heading the list (the United Kingdom has about seven hundred thousand).

6. Studying carefully the clues in the passage, we learn that the total population of Africa is        .
  A) approximately eight or eight point five thousand million        B) approximately seven hundred million

  C) approximately one hundred and twenty-five million            D) exactly twenty-four million

7. The figure of illiteracy in Britain comprises        .
A) zero point one per cent of that of illiteracy in the world   B) zero point two per cent of the world adult population

C) thirty-five per cent of Europe’s population  D) three point five per cent of that of the illiteracy in Southern Europe

8. It is obvious that UNESCO         .
  A) is a company in France                    B) works mainly at combating illiteracy

  C) is a world organization attached to the U. N.   D) has many experts whose level of attainment is far from literacy

9. A world plan mentioned in the passage aims at        .
  A) enforcing the functions of UNESCO

  B) training responsible citizens 

  C) urging Southern European countries to take the lead in attacking illiteracy

  D) helping illiterates learn how to read and write

10. The author implies that this world plan is to        .
  A) be carried out in the major areas of illiteracy like Africa         B) be realized in ten years

  C) be drawn up by Parisian experts                            D) be debated at an international conference

Questions 11 to 15 are based on the following passage.

In the course of the late 1930s thousands of workers transformed an old garbage dump in the New York borough of Queens into the 1939-40 New York World’s Fair. For the price of a five-cent subway ride and seventy-five-cent admission fee, some fifty-seven attendees could sample personally “the wonders of contemporary life.”

Since the middle of the nineteenth century, industrial states had held periodic expositions to showcase the goods produced by their nationals and by others. Although London’s Great Exhibition of 1851 had led the way, it was the French who were to produce such international displays of culture and machinery most frequently during the next half-century. American expositions tied the French example to the celebration of key historical anniversaries. The best-remembered example is the Chicago Exposition of 1893, which marked the four hundredth anniversary of Columbus’s arrival—one year late. The New York World’s Fair of 1939 was inspired by the 150th anniversary of the inauguration (就职典礼) of George Washington. 

What took place at these showcases of modern architecture, national pride, and international commercial competition? The 1893 Chicago Fair boasted its entertainment “Midway” as well as scientific exhibits, and visitors to the New York Fair in 1939 may well have been more impressed by the simulated (模拟的) 250-foot parachute jump than by the first speech by a president to be shown on television, or the first color film for home movie cameras. 

11. How much did a ticket to the 1939-40 New York Fair cost?        

  A) 5 cents. 

 B) 75 cents. 

C) 57 cents.  D) 80 cents.

12. The word “showcase” in paragraph 2 probably means _______.

  A) display
 B) be put in a case

C) purchase
D) be bought

13. Which nation organized most of the international exhibitions between 1850 and 1900?

  A) Great Britain.  B) The United States.  C) England.   D) France.  

14. We can conclude from the passage that the four hundredth anniversary of Columbus’s arrival should have been celebrated in __________. 

  A) 1893

B)1892
 C) 1894 

 D) 1895

15. What was one important feature of the 1893 Chicago Exposition?

  A) Entertainment and scientific displays.  B) Historical conference.

  C) Athletic competition.  



D) Presidential speech.
Section B
Directions: In this section there is a short passage with five questions or incomplete statements. Read the passage carefully. Then answer the questions or complete the statements with no more than 10 words. Be sure to write your answers on Answer Sheet (2).

Teen smoking rates have been dropping since 1997, federal health officials report today, but more than a quarter of high school students still smoke cigarettes. 

The Centers for Disease Control and Prevention says roughly 29% of American high school students are smokers, down from 36% in 1997. The finding confirms other studies that show a decline in smoking in this age group. 

The trend is occurring across all race and age groups and in both boys and girls, says Terry Pechacek of the CDC's National Center for Chronic Disease Prevention and Health Promotion. If trends continue, the report says, the national goal to reduce teen smoking rates to 16% or lower by 2010 is achievable. 

Pechacek attributes the decline to a 70% jump in the price of cigarettes from the end of 1997 to May 2001, along with expanded school, state and national smoking-prevention efforts. By 2000, the report says, 92% of the USA's school districts required tobacco-prevention education, and nearly half of middle and senior high schools had no-smoking policies. 

To keep teen smoking rates on a downward path, Pechacek says, cigarette prices should continue to rise and smoking-prevention campaigns should expand. “We’ve got it going in the right direction,” he says, “but we can’t be satisfied with what we have got. If we’re going to continue to decline, we’ve got to continue those efforts.” 

The data being released today are part of the Youth Risk Behavior Survey, a national school-based survey of 14,601 students in grades 9-12 that was conducted in spring 2001.

SAQ 1. This report mainly discusses ____________________. 

SAQ 2. From 1997 to 2001, the smoking rate in America high school students has dropped by _____________ percentage point.

SAQ 3. What did the US want to achieve in fighting teen smoking by the year 2010? 

SAQ 4. The drop in teen smoking rate was a result of _____________________ as well as efforts from various sectors to prevent smoking.

SAQ 5. What should be the next step to reduce teen smoking rate according to Pechacek? 
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